lnenark AND FACILITIES

CATALOSG




CATALD@®G

3350 NW Boca Raton Blvd., Suite B2
Boca Raton, FL, 33431
1-866-280-9894

WARRANTY & TERMS

WARRANTY: 5 Year Limited Warranty on Thermoplastic coated elements. The Park and Facilities Catalog guarantees all items
for one full year to be free of defects in workmanship or materials when installed and maintained properly. We agree to repair or
replace, any items determined to be defective. ltems specifically not covered by this warranty include vandalism, man made or natural
disasters, lack of maintenance, normal weathering or wear and tear due to public abuse.

Damages or loss in transit is the responsibility of the carrier, whether visible or concealed. It is the responsibility of the recipient to
assure that the order is received complete. Before signing the delivery receipt, inspect the shipment immediately and completely. Note
any damages or shortages on the bill of lading. Damage reports must be filed within 10 days. The Park and Facilities Catalog is NOT
responsible for damages or loss in transit. Title to all goods passes to the customer at the time of shipment. The Park and Facilities
Catalog will assist in filing claims if the freight arrangements were made by The Park and Facilities Catalog at your request.

CANCELLATIONS AND RETURNS: Cancellations are only accepted with approval of The Park and Facilities Catalog. No
merchandise shall be returned without a Return Goods Authorization number which is issued by customer service. Any authorized
merchandise must be carefully packed and received in saleable condition. A restocking charge of up to 25% will be applied to all
returned goods when the error is not the fault of The Park and Facilities Catalog. All returns must be shipped freight prepaid.

5/24/2013






HARDWARE

516" x 1"
Machine Bolt

5/16" Washer

5/16" Kep Nut

_thenarkm 800-695-3503 www.theparkcatalog.com



TOOLS REQUIRED

1/2" Wrench /
7/ 1/2" Socket Wrench

Tape Measure

1][]11:] | S—— 800-695-3503 www.theparkcatalog.com



8’ Pedestal Picnic Table

Top & Seats: 11 gauge die formed angle frame 1”x1-7/8” with 3” radius corners. 3/4” #9 steel expanded metal. 7 gauge x 1-1/2” flat bar
center support and mounting bracket understructure. Electrically MIG welded.

Coating: Oven fused functionalized polyethylene copolymer-based thermoplastic. Fluidized bed coating application with superior
mechanical performance, impact resistance and UV-stability.

Frame: 4 x 4 x 11 gauge structural steel square tubing. Tubing is capped with a 4 x 4 x 3/16” steel flat bar. Arms are supported with 6”
x 67 x 1/4” steel flat bar gussets. Seat and top mounting points 7 gauge x 1-1/2" die stamped steel flat bar. All electrically MIG welded.

Frame Coating: Electrostatic powder coated application oven cured.

Hardware: All stainless steel hardware fasteners.

Dimensions: 8 surface mount picnic table design. Top is 30-1/8" wide x 96-1/8" long and is 30" high. Seats are 12-1/8" wide x 96-1/8"
long and 18” high. Outside to outside dimension is 64" x 96-1/8".

theparkemmmm 800-695-3503 www.theparkcatalog.com

Page 6 of 10



COMPONENTS

Optional Surface Mount Hardware:
3/8" x 3-1/2" Concrete Expansion Anchor Bolts

(Not Included)

ITEM NO. PartNo DESCRIPTION QTY
1 T-V96-T 8' Expanded Top 1
2 V347SM 347 Surface Mount Vinyl Leg 2
3 T-V96-S 8' Expanded Seat 2
4 33-02-0007 5/16" Flat Washer (SS) 32
5 33-05-0029 5/16" x 1" Machine Bolt (SS) 16
6 33-03-0012 5/16" Kep Nut (SS) 16

theparkeomm

800-695-3503

www.theparkcatalog.com



Attach the 8' Table Top to the 347
Legs using specified hardware.

theparkeozmm: 800-695-3503 www.theparkcatalog.com



Attach the 8' Benches to the 347 Legs using specified hardware.

.......

thepark oz 800-695-3503 www.theparkcatalog.com



OVERALL DIMENSIONS

cATALO®

thepark e 800-695-3503 www.theparkcatalog.com



	347SM-V8-1 s2
	TPC Warranty Page for pdfs this one copy
	347SM-V8-3s
	347SM-V8-4s
	347SM-V8-5 s
	347SM-V8-6s
	347SM-V8-7s
	347SM-V8-8s
	347SM-V8-9 s
	347SM-V8-10s

